

$$8\frac{9}{10} - 3\frac{6}{8} =$$

$$6\frac{1}{7} - 1\frac{9}{11} =$$

$$6\frac{5}{10} + 1\frac{1}{5} =$$

$$\frac{9}{8} - \frac{4}{7} =$$

$$\frac{9}{10} + \frac{4}{3} =$$

$$\frac{2}{10} + \frac{2}{6} =$$

$$\frac{8}{10} + \frac{2}{9} =$$



$$8\frac{9}{10} - 3\frac{6}{8} = 8\frac{36}{40} - 3\frac{30}{40} = 5\frac{6}{40} = 5\frac{3}{20}$$

$$6\frac{1}{7} - 1\frac{9}{11} = 6\frac{11}{77} - 1\frac{63}{77} = 5\frac{88}{77} - 1\frac{63}{77} = 4\frac{25}{77}$$

$$6\frac{5}{10} + 1\frac{1}{5} = 6\frac{5}{10} + 1\frac{2}{10} = 7\frac{7}{10}$$

$$\frac{9}{8} - \frac{4}{7} = \frac{63}{56} - \frac{32}{56} = \frac{31}{56}$$

$$\frac{9}{10} + \frac{4}{3} = \frac{27}{30} + \frac{40}{30} = \frac{67}{30} = 2\frac{7}{30}$$

$$\frac{2}{10} + \frac{2}{6} = \frac{6}{30} + \frac{10}{30} = \frac{16}{30} = \frac{8}{15}$$

$$\frac{8}{10} + \frac{2}{9} = \frac{72}{90} + \frac{20}{90} = \frac{92}{90} = 1\frac{2}{90} = 1\frac{1}{45}$$

